Thinking of how you feel right now, if a FEDERAL election were held tomorrow, which of the following parties' candidates would you, yourself, be most likely to support?

HOUSEHOLD INCOME HOUSEHOLD
COMPOSITION

REGION

Total BC AB SK/MB Ontario Quebec Atlantic <$40K $40K - $60K - $100K+ Kids No Kids The The Liberal | The New | TheBloc | The Green other
<$60K <$100K Conservativ Party Democratic| Québécois Party
e Party Party (NDP)|  (BQ)
A B C D E F G H | J K L R
Base: All Respondents (unwtd) 1000 126 106 91 369 212 96 238 157 301 205 223 777 11
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 311 160 259 157 214 786 250 289 144 53 50 9 a5 160
232 24 48 22 91 33 14 50 37 59 56 72 160 232 - - - - - - -
The Conservative Party 23% 18% 43% 35% 24% 14% 21% 16% 23% 23% 35% 34% 20% 93% - - - - - - -
* ADEF* AE* E * * GHI L NOoQsT * ** * ** * *
270 42 19 10 122 54 22 68 39 86 50 47 223 - 270 - - - - - -
The Liberal Party 27% 31% 17% 16% 32% 23% 33% 22% 24% 33% 32% 22% 28% - 93% - - - - - -
* * * BC c* * G MOQsT * o * I’ * *
123 19 9 6 58 24 7 43 26 27 16 23 99 - - 123 - - - - -
The New Democratic Party (NDP) 12% 14% 8% 10% 15% 10% 10% 14% 16% 10% 10% 11% 13% - - 85% - - - - -
* * * * * MNQST* I’ * o * *
51 - - - - 51 - 25 10 11 4 10 41 - - - 51 - - - -
The Bloc Québécois (BQ) 5% - - - - 22% - 8% 6% 4% 3% 5% 5% - - - 98% - - - -
* * * ABCDF * * * o * I’ * *
44 9 2 1 20 10 2 14 9 13 4 9 34 - - - - 44 - - -
The Green Party 4% 7% 2% 2% 5% 4% 3% 5% 6% 5% 3% 4% 4% - - - - 86% - - -
* * * * * * I’ MNOST* I’ * *
7 1 2 1 2 2 - 2 1 3 1 1 7 - - - - - 7 - -
Or some other party 1% 1% 2% 1% 1% 1% - * 1% 1% * * 1% - - - - - 86% - -
* * * * * * o * o * *
43 7 6 4 11 12 2 19 5 10 3 12 31 - - - - - - 43 -
Would not vote/None/Would spoil ballot 4% 5% 6% 7% 3% 5% 3% 6% 3% 4% 2% 6% 4% - - - - - - 96% -
* * * * * * o * o MNOQT* *
231 34 26 18 81 52 20 90 33 49 24 39 191 18 20 22 1 7 1 2 160
Don't Know/Not sure 23% 25% 23% 29% 21% 22% 30% 29% 20% 19% 15% 18% 24% 7% 7% 15% 2% 14% 14% 4% 100%
* * * * M * N* I’ * o * MNOQS*
1000 134 113 62 385 239 67 311 160 259 157 214 786 250 289 144 53 50 9 45 160
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/,K/LM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/,K/LM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)



Well, which party would you say you would lean towards?

REGION HOUSEHOLD INCOME HOUSEHOLD
COMPOSITION

Total BC AB SK/MB Ontario Quebec Atlantic <$40K $40K - $60K - $100K+ Kids No Kids The The Liberal | The New | TheBloc | The Green
<$60K <$100K Conservativ Party Democratic| Québécois Party
e Party Party (NDP)
A B C D E F G H | J K L

Base: All Answering (unwtd) 221 27 24 22 77 42 29 63 35 55 32 41 180
Base: All Answering (wtd) 231 34 26 18 81 52 20 90 33 49 24 39 191 18 20 22 1 7 1 2 160
18 3 4 * 5 5 1 2 4 4 4 2 16 18 - - - - - - -
The Conservative Party 8% 10% 14% 2% 6% 10% 4% 2% 12% 8% 16% 6% 8% 100% - - - - - - -
% wx % % *x *x *x *x % % *x *x *x % *x %
20 1 1 1 13 1 3 2 5 7 3 3 16 - 20 - - - - - -
The Liberal Party 8% 2% 5% 4% 16% 3% 13% 2% 17% 14% 11% 9% 8% - 100% - - - - - -
% wx % % *x *x *x *x % % *x *x *x % *x %
22 2 2 1 12 3 1 4 1 12 3 1 21 - - 22 - - - - -
The New Democratic Party (NDP) 10% 7% 9% 4% 15% 7% 7% 5% 2% 25% 13% 3% 11% - - 100% - - - - -
% wx % % *x *x *x *x % % *x *x *x % *x %
1 R - R - 1 - 1 R R - R 1 R - R 1 R R R -
The Bloc Québécois (BQ) 1% - - - - 2% - 1% - - - - 1% - - - 100% - - - -
% *x % % *x *x *x *x % % *x *x *x % *x %
7 R - R 4 2 * 5 R 1 - R 7 R - R R 7 R R -
The Green Party 3% - - - 5% 5% 2% 5% - 1% - - 4% - - - - 100% - - -
% wx % % *x *x *x *x % % *x *x *x % *x %
1 R 1 R - 1 - 1 R R - R 1 R - R R R 1 R -
Or some other party 1% - 2% - - 1% - 1% - - - - 1% - - - - - 100% - -
% wx % % *x *x *x *x % % *x *x *x % *x %
2 2 - R - - - R R R - R 2 R - R R R R 2 -
Would not vote/None/Would spoil ballot 1% 6% - - - - - - - - - - 1% - - - - - - 100% -
% wx % % *x *x *x *x % % *x *x *x % *x %
160 25 18 16 48 38 15 75 23 26 14 32 127 - - - - - - - 160
Don't Know/Not sure 69% 75% 69% 90% 59% 73% 75% 84% 69% 52% 60% 83% 67% - - - - - - - 100%
% wx % % *x *x *x *x % % *x *x *x % *x %
231 34 26 18 81 52 20 90 33 49 24 39 191 18 20 22 1 7 1 2 160
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/,K/LM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/,K/LM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)



Fed Vote

REGION HOUSEHOLD INCOME HOUSEHOLD
COMPOSITION

Total BC AB SK/MB Ontario Quebec Atlantic <$40K $40K - $60K - $100K+ Kids No Kids The The Liberal | The New | TheBloc | The Green
<$60K <$100K Conservativ Party Democratic| Québécois Party
e Party Party (NDP) (8Q)
A B C D E F G H | J K L

Base: All Respondents (unwtd) 1000 126 106 91 369 212 96 238 157 301 205 223 777
Base: All Respondents (wtd) 1000 134 113 62 385 239 67 311 160 259 157 214 786 250 289 144 53 50 9 a5 160
250 27 52 22 96 38 15 52 41 62 59 75 175 250 - - - - - - -
The Conservative Party 25% 20% 46% 36% 25% 16% 22% 17% 26% 24% 38% 35% 22% 100% - - - - - - -
* ADEF* AE* * * GHI L NOoQsT * ** * ** * *
289 43 21 11 135 56 25 70 44 93 52 50 239 - 289 - - - - - -
The Liberal Party 29% 32% 18% 17% 35% 23% 37% 23% 28% 36% 33% 24% 30% - 100% - - - - - -
* * * BCE BC* * G G MOQST * *x * *x * *
144 21 12 7 70 27 8 47 27 39 19 25 120 - - 144 - - - - -
The New Democratic Party (NDP) 14% 16% 10% 11% 18% 11% 12% 15% 17% 15% 12% 11% 15% - - 100% - - - - -
* * * * * MNQST* *x * *x * *
53 - - - - 53 - 26 10 11 4 10 43 - - - 53 - - - -
The Bloc Québécois (BQ) 5% - - - - 22% - 9% 6% 4% 3% 5% 5% - - - 100% - - - -
* * * ABCDF * 3 * * *x * *x * *
50 9 2 1 24 12 2 19 9 14 4 9 41 - - - - 50 - - -
The Green Party 5% 7% 2% 2% 6% 5% 3% 6% 6% 5% 3% 4% 5% - - - - 100% - - -
* * * * * * *x MNOST* *x * *
9 1 2 1 2 3 - 2 1 3 1 1 8 - - - - - 9 - -
Or some other party 1% 1% 2% 1% 1% 1% - 1% 1% 1% * * 1% - - - - - 100% - -
* * * * * * *x * *x * *
45 9 6 4 11 12 2 19 5 10 3 12 32 - - - - - - 45 -
Would not vote/None/Would spoil ballot 4% 6% 6% 7% 3% 5% 3% 6% 3% 4% 2% 6% 4% - - - - - - 100% -
* * * * * * - * *x MNOQT* *
160 25 18 16 48 38 15 75 23 26 14 32 127 - - - - - - - 160
Don't Know/Not sure 16% 19% 16% 26% 12% 16% 23% 24% 14% 10% 9% 15% 16% - - - - - - - 100%
* * D* * U * * *x * *x * MNOQS*
1000 134 113 62 385 239 67 311 160 259 157 214 786 250 289 144 53 50 9 45 160
Sigma 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/,K/LM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/,K/LM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)



Fed Vote

REGION HOUSEHOLD INCOME HOUSEHOLD
COMPOSITION

Total SK/MB Ontario Quebec Atlantic <$40K $40K - $60K - $100K+ Kids No Kids The The Liberal | The New | TheBloc | The Green
<$60K <$100K Conservativ Party Democratic| Québécois Party
e Party Party (NDP) (8Q)

Base: All Answering (unwtd) 816 100 87 67 312 175 75 177 127 257 183 183 633
Base: All Answering (wtd) 796 100 89 42 327 189 50 217 132 223 140 170 626 250 289 144 53 50 9 - -
250 27 52 22 96 38 15 52 41 62 59 75 175 250 - - - - - - -
The Conservative Party 31% 27% 58% 54% 29% 20% 30% 24% 31% 28% 43% 44% 28% 100% - - - - - - -
* ADEF* | ADEF* * * * Gl L NoQ * = * >
289 43 21 11 135 56 25 70 44 93 52 50 239 - 289 - - - - - -
The Liberal Party 36% 42% 23% 26% 41% 29% 50% 32% 33% 42% 38% 30% 38% - 100% - - - - - -
B* * * B BCE* * * * MOoQ * I’ * o
144 21 12 7 70 27 8 47 27 39 19 25 120 - - 144 - - - - -
The New Democratic Party (NDP) 18% 21% 13% 16% 21% 14% 16% 22% 20% 17% 14% 14% 19% - - 100% - - - - -
* * * * * * * MNQ* o * I’
53 - - - - 53 - 26 10 11 4 10 43 - - - 53 - - - -
The Bloc Québécois (BQ) 7% - - - - 28% - 12% 7% 5% 3% 6% 7% - - - 100% - - - -
* * * ABCDF * * * * * I’ * I’
50 9 2 1 24 12 2 19 9 14 4 9 4 R - R - 50 - R -
The Green Party 6% 9% 3% 3% 7% 6% 4% 9% 7% 6% 3% 6% 7% - - - - 100% - - -
* * * * * * * * I’ MNO* o
9 1 2 1 2 3 - 2 1 3 1 1 8 R - R R R 9 R -
Or some other party 1% 1% 3% 1% 1% 2% - 1% 1% 1% * * 1% - - - - - 100% - -
* * * * * * * * I’ * o
45 9 6 4 1 12 2 19 5 10 3 12 32 R - R - R - 45 -
Would not vote/None/Would spoil ballot
160 25 18 16 48 38 15 75 23 26 14 32 127 - - - - - - - 160
Don't Know/Not sure
1000 134 113 62 385 239 67 311 160 259 157 214 786 250 289 144 53 50 9 45 160
Sigma 126% 134% 127% 149% 118% 127% 134% 144% 121% 116% 112% 126% 126% 100% 100% 100% 100% 100% 100% - -

Statistics:

Overlap formulae used

- Column Proportions:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/,K/LM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)

- Column Means:
Columns Tested (5%): A/B/C/D/E/F,G/H/1/,K/LM/N/O/P/Q/R/S/T
Minimum Base: 30 (**), Small Base: 100 (*)



